
Here is a truncated version of the generating function g(x) for the partition numbers p0, p1, p2, p3, ..... 

It is identical to g(x) except that the powers of x exceeding 10 are omitted. Thus the coefficient of xn  equals pn
only for 0 ⩽ n ⩽ 10.

If n > 10, then not all partitions are counted. For example, the highest power x87has a coefficient of 1, indicating 

that the polynomial counts only one partition of 87. What partition is this? It comes from the highest powers of x in 

each factor: 10, 10, 9, 8, 10, 6, 7, 8 9,10. This coreesponds to the partition consisting of 10 1’s, 5 2’s, 3 3’s, 2 4’s, 
2 5’s, 1 6, 1 7, 1 8, 1 9 and 1 10, namely:

87 = 1+1+1+1+1+1+1+1+1+1+2+2+2+2+2+3+3+3+4+4+5+5+6+7+8+9+10.
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